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o FYA TT FT T [F 5G F97-79 § JRT §%T 16 76 737 35 &
Please make sure that the printed pages in this question paper are 16 in number
and it contains 35 questions.

o J5T-UF 7 qET B @ FRT T Fle TR F GIF F-Gieawl & FEI-T% G ford)

The Code No. on the right side of the question paper should be written by the
candidate on the front page of the answer-book.

o FYI 9T FH FaT FiGT §@ B9 7 U8, FIT B HHG 79T @

Before beginning to answer a question, its Serial Number must be written.
o FUT-GRaE F &T 7 @i e T S8

Don’t leave blank page/pages in your answer-book.

o FET-GRTH F SaRFT Fs o S TE P o eaRaEager & ki@ st frar gow T
FIC)

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o G SyEr U To HT-YH GT HE9q [@ U do F ffaRHT FIT-9H 9T AT G A 7
ferd ST g Fedl & I UT Frdf FHIT 9T T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
lype questions.
o FYI g F G @7 @ §F 77 ghkaT a7 & & wse-97 g 7 @8 2 qhwr # 9o 59
T 7 FE o @ e To A aEam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T (39T :
General Instructions :
(i) T T dfErE 8

All questions are compulsory.

(i) FGFT7 T F735 97 & FF an @8l - F & AT T T aie 7 & :

This question paper consists of 35 questions in all which are divided into
Jour Sections: A, B, Cand D :

G - : 5T EE T 1§17 7% T 17 557 & T9% 597 1 7% 7 &

Section - A : This Section consists of 17 questions from 1 to 17, each of
1 mark.

G - 57 G F18 G 24 7% T T 7 2, qO9F F5T 2 FF F B

Section - B : This Section consists of T questions from 18 to 24, each of
2 marks.

&% - T 59 @5 725 § 30 7% L7 6 ¥97 B HAEF H9T 4 &F # A
Section - C : This Section consists of 6 questions from 25 to 30, each of 4

mariks.
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GV - §: 57 G 4 31 § 35 7% T 5 H97 & 9% H¥T 5 HH F B

Section — D : This Section consists of are 5 questions from 31 to 35, each of
S marks.

(iii) & - & 7§ 57 & qwaRkF ey &7 73 231 397 & @ 597 B g 2
Section - D contains two questions where internal choice have been
provided. You have to choose one of them.

quE -3
SECTION - A
. 75 X 125 # HCF 8T : 1

(A) 5 (B) 15

e 23 (D) 35

The HCF of 75 and 125 will be :

(A) 5 (B) 15

(€) 25 (D) 35

. fTr=fafan demst & SW-d sfdg denr B 7 1

(A) 416

(B) 7449

(C) | 525

(D) 0.313311333......

| B 2



(4)

Which of the following numbers is an irrational number ?

A) 416
(B) 7449
(C) 5425

Ol 0818118, ...

e 96 H ARG PHEVE! B B H FHR DI

Express 96 as a product of prime factors.

. fomm g 6x° -7x-3 & S B [ONGA BT

i 6
(A) “Z (B) s
3 3
(€) & (D) o

The product of zeroes of the quadratic polynomial 6x° —7x -3 will be :

7 6
(A) “% (B) 7
3 i
(C) —z (D) 8

5. frfafen & & $9-a1 d9g =% & 98956 & 7

104

A) x3+7

1
(B) x+?—9

(C) 5x°/2+9

D) 5x°4+7x-1

104
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Which of the following algebraic expression is a polynomial ?

A) | x Ty

1
(B) st =9
(€) | 5252 +09

(D) | 5x%+7x-1

. TH W 2x-3y+6=03N 4x-6y-3=0%: 1

(A) WA &

(B) Huriht #

(C) TF &g W s Hh 2
(D) 7 4 HE Tt

Pairof lines 2x-3y+6 =0and 4x—-6y—3 =0 are :
(A) Parallel
(B) Coincident

(C) Intersecting at a point

(D) None of these

7. FAH FMHE a,x+by+c =0 T azx+byy+c, =0 & T Agad &7 8, 3R} : 1

104
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© “-h_a (D) T & B T
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(6) 104
The system of equations a;x+by+c; =0 and ayx+byy+cy; =0 will have

unique solution, if :

(A) El.z_bi.¢ﬂ
a, b, ¢,
B a2
a; by

ﬂ.l_b] —EL

© L=2-
a, b, ¢,

(D) None of these

8. F=fafad # @ F9-ur o gHetr 78 2 ? 1
(A) 5x+6x° =6x° +7x+3

B) x?-7x=T+x

(C) (x+12+6x=0

D) y-7x=y>-6

Which of the following is not a quadratic equations ?
(A) 5x+6x°=6x°+7Tx+3

(B) x2-Tx=T+x

(C) (x+1P2 +6x=0

(D) y-7x=y?>-6

104



9;

10.

13

104

(7)
A.P.:-10,-6,-2,2 ...... F s 71 8 ?
(A) -4 (B) 4
(€) 6 (D) -6
What is the common difference of A. P. : =10, -6, -2, 2 ...... ?
(A) -4 B) 4
(C) 6 (D) -6

fargatt (-5, 7)) (-1,3)F a9 H Th B ¢

(A) /38 (B) 40
(€) +32 D) /34

The distance between the points (-5, 7) and (-1, 3) will be :

(A) 38
(B) 40
(C) 432
(D) /34

forgall (-2, 2) T (2, —4) Bl Fed a1 TE@EvS B 79 f&§y T S

Find the mid point of the line segment joining the points (-2, 2) and (2,

104

-4),
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12.

13.

14.

104

(8)

sinl8 e 3 .
cos 72°
(&) —1 B) 2
() 3 (D) 1
The value of SEEN & will be :

cos 72°
A) =¥ (B) 2
(C) 3 D) 1

it g0 & @Y gaEs @ AFGd SN B B GA d

Write the formula to find out the area of minor segment of a circle.

fepdt T 1 ST 10 §E B I SIETH T AR 7

(A) 1000 &H (B) 1000 {#t

(C) 1000 §H’ (D) 60 FH°

The side of a cube is 10 cm. What will be the volume of this cube ?
(A) 1000 cm® (B) 1000 cm

(C) 1000 cm? (D) 60 cm®

104
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15. U9 & UF 91X B4 9T GEAT 4 AW & Widear 4 ann ? 1
1 1
(A) 5 (B) 2
1
(C) = (D) 1

16.

104

What will be the probability of getting 4 in a single throw of a die ?

1 1
(A) = (B) 5
1
(€) 6 (D) 1
ferelt AT el SR Tewnett @ sianeT @A ... Bl 1
1
(A) 5 (B) 1
1 1
)| = (= =

The sum of the probabilities of all the elementary events of an experiments
(A) (B) 1

(C) (D)

o

0 2
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18.

19.

20.

21.

104
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I PE) = 0.06 &, @ “E & & wikwar sia Hif) 1

If P(E) = 0.06, then what will be the probability of "Not E" ?

g's -9
SECTION - B

HCF (510, 92) = 2 R41 B, @ LCM (510, 92) 5T i@ 2
Given that HCF (510, 92) = 2, then find LCM (510, 92).

fead S0 3x? -x-4 B LIS FA Do 2

Find the zeroes of quadratic polynomial 8x2 —x—4.

k& fpg w9 & fog, frer s adieoll @ 39 & $1E 5 98 B 7 2
3x+ty=1
(k- 1l)x+ (k- 1)y=2k+ 1
For which value of k will the following pair of linear equations have no solution ?
Sxty='1

2k - 1)x + (k- 1)y =2k + 1

faama @it 6x% - x-2=0 & qd@ T W 2

Find the roots of the quadratic equation 6x°-x-2=0.



22.

23.

24.

25.

104
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U Y9 40 =9 QU H1 IR S HG S 6 faury 2
Find the sum of first 40 positive integers divisible by 6.

AR :0l-338o9 "k , 12 UG @ I Sd S 2
Find the sum of A. P. : =37, =33, -29, ........ to 12 terms.

s et § 5 O 39, 8 9%¢ P9 R 4 B D 81 I oA § § U P AgWA e

S & ST F9 Wi & 5 e T w9 () 99 8 (i) B0 e 7 7 2

A box contains 5 red marbles, 8 white marbles and 4 green marbles. One
marble is taken out of the box at random. What is the probability that the

marble taken out will be (i) red (ii) not green ?

s -4
SECTION - C
Uad 2 2,000 FewH $ T @ % T 399 @eE 8 T 50 @4 T 100 ® Al 39 B fg

FeN UEd A B 25 Aie i fhy w P F gER T 50 @ T 100 F - e
e Q) 4

Payal went to a bank to withdraw ¥ 2,000. She asked the cashier to give her

¥ 50 and T 100 notes only. Payal got 25 notes in all. Find how many notes of
¥ 50 and T 100 she received.

0 2



26.

27.

28.

29.

104
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y-318 T O% Qar fg am i S fEgett Ale, 5) R B(—4, 3) & wHEE & 4

Find a point on y-axis which is equidistant from the points A(6, 5) and B(-4, 3).

fig A % wi® Fa FIY, T8l AB TF g0 & A9 & o0H &= (2, —3) 3 N B &
feer® (1, 4) %

Find the coordinates of a point A, where AB is the diameter of a circle whose

centre is (2, -3) and Bis (1, 4).

g sin[A—B]:é, sin[A+B)=§, 0°<A+B<90° A=>B al AN BH 99 @

FiroTa 4
; f L V3

If sm{A—B]=§, Sm(A+B]I=7, 0°< A+ B <£90°% A = B, then find the value of

Aand B.

15 8 Bear a1t 0% g@ @ FiE S B 9T 60° F BT SiAd B 81 I Ty gAEsS
T ABw T P (r=3.14 X J/3=1.73 & W@ FPW) 4

A chord of a circle of radius 15 cm subtends an angle of 60° at the centre. Find

the area of minor segment of the circle. (Use ® = 3.14 and V3 = 1.73)
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30. Fifafiad AR 35 TR &1 TR &¥ (% H) TR &1 A1g | &% B 4
e X (% H) | 45-55 55-65 65-75 75-85 85-95
TR & den 3 10 11 8 3

The following table gives the literacy rate (in %) of 35 Cities. Find the mean

literacy rate :

Literacy Rate (in %) 45-55 55-65 65-T5 75-85 85-95
Number of Cities 3 10 Tl 8 8
s —§
SECTION-D

31. J8 # A WY 26 I 1 B FH Y (a6 H) F PEed dF § i 9 ggE 360 A

104

ST F8T & A Y Fd i)

5

Neha's mother is 26 years older than her. The product of their ages (in years) 3

yvears from now will be 360. Find the present age of Neha.

0 2



32.

33.
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fedt A. P. & A9 3T 8§ TG F TN 24 & TU B¢ ST 10d TS FH T 44 B I A. P.
B W i % S P 5

The sum of the 4th and 8th terms of an A. P. is 24 and the sum of the 6th and
10th terms is 44. Find the first three terms of the A. P.

HAEEr
OR

If T A. P. & WIH 7 TSf 1 41T 49 B AR YW 17 TSI %7 4T 289 B, o 39D UM n
TSl & TR T BT 5

If the sum of first 7 terms of an A. P. is 49 and that of 17 terms is 289. Find the

sum of first n terms.

7 W FY W P RET 4 UF Bad oA B [NET H I=EE B 60° & AR TS UE H
FETHA PIOT 45° B| AT B HAR =TT BT 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 60° and the angle of depression of its foot is 45°. Determine the height

of the tower.

HEEr

OR



34.

35.

104
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fos #ifg : 5

l+secA _ sin? A
sec A l-cos A

Prove that :

l1+gec A sin? A
sec A l-cos A

FAT: 6 G, 8 B AT 10 T ool o uig B AW o Mo B RETHT & T2 O
el ST S B g9 WA @ Ee s S 5

Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively, are melted to form a

single solid sphere. Find the radius of the resulting sphere.

frrefifiad sSRaRaT seq 5 At $ 68 SuNRReT &1 el 1 i @ud @ g 2

BT gD G HIY 5
At Ea (eEat #) SUHIRISA B HEA

65-85 4

85-105 5
105-125 13
125-145 20
145-165 14

165-185 8

185-205 4

P.1T.0O.
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The following frequency distribution gives the monthly consumption of electricity

of 68 consumers of a locality. Find the mode of the data :

Monthly Consumption (in Units) Number of Consumers

65-85 is

85-105 5

105-125 13

125-145 20

145-165 i

165-185 8

185-205 4
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